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Rechne in die Einheit beim Ergebnis um und addiere.


1) 375 cm  +  35,3 dm  +  0,97 m 	= __________ cm
  ________ + _________ + ________	= __________ cm

2) 398 cm  +   0,84 m  + 34,7 dm 	= __________ cm
  ________ + _________ + ________	= __________ cm

3) 32,5 dm +   288 cm + 1,98 m 	= __________ cm
  ________ + ________ + ________	= __________ cm

4) 483 cm  +  45,7 dm  + 1,48 m 	= ___________ mm
  ________ + _________ + ________	= __________ cm

5) 0,83 m  +  35,1 dm  + 492 cm 	= ___________ m
  ________ + _________ + ________	= __________ cm

6) 23,7 dm +  396 cm  + 2,22 m	= __________ m
  ________ + ________ + ________	= __________ cm

7) 484 cm  +  24,6 dm  + 1,3 m 	= __________ dm
  ________ + _________ + ________	= __________ cm

8) 509 cm  +  0,5 m   + 19,1 dm 	= __________ mm
  ________ + ________ + ________	= __________ cm

9) 76 cm   + 25,3 dm   + 0,74 m	= __________ cm
  ________ + _________ + ________	= __________ cm

10) 15,5 dm +  142 cm  + 1,8 m	= __________ cm
  _________ + ________ + ________	= __________ cm 
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